N4 Maths E+F 1-1d

Worksheet 3 Outcome 2 - Substitution

Outcome 1 - Substitution with positive

numbers and basic expressions

If p=3,qg=5and r = 6, calculate :-

with positive numbers

If p=3,9=5and r= 6, calculate :-

& 3pt2q & 1q —4r
& Pt & btq e 6p+3¢g—-1r & 5qr—2p
s pratr & -4 & 4pr+10 & 10pgq=+2
& q+r-p & 2 L pta a @
% 7q 8 gqr 10 2
8 8 2pq & 7-:r 8 25— 1p
Outcome 3 - Substitution ~ 3p+r & 2q —4

and neative mumbers o M+50 g 6q-p

If p=-1,q=-4andr= 49, 8 @ 8 P

calculate :- Z 7p2 8 2q3

8 rit+tqt A8
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